

DISTRICT 4 16164J NON-FEDERAL

PROJECT: DISTRICT 4

STATE PROJECT NUMBER: 16164J

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN: March 02, 2021, 2:00

DATE BIDS OPEN: SCOPE OF WORK:

Resurfacing various tier 2, 3, and 4 roadways in District 4.

COMPLETION DATE:

LOCATION:

September 10, 2021 Hillsborough, Cheshire Awarded To: CONTINENTAL PAVING INC

1 CONTINENTAL DRIVE LONDONDERRY, NH 03053

Amount: Award Date: \$2,286,018.40

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE, LONDONDERRY NH 03053	\$2,286,018.40	А
PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD, BELMONT NH 03220	\$2,286,589.30	В
ALL STATES CONSTRUCTION INC PO BOX 91, SUNDERLAND MA 01375	\$2,626,326.15	С
EUROVIA ATLANTIC COAST LLC 216 MOUNT HERMON STATION ROAD, NORTHFIELD MA 01360	\$3,090,529.05	D
BROX INDUSTRIES, INC. 1471 METHUEN STREET, DRACUT MA 01826	\$3,346,742.20	E



DISTRICT 4 16164J NON-FEDERAL

					ı	PS&E	1 CONTIN	AL PAVING INC ENTAL DRIVE ERRY, NH 03053	3 EASTGAT	JSTRIES, INC. TE PARK ROAD TT, NH 03220
Item	No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

206.1	COMMON STRUCTURE EXCAVATION	CY	13.80	\$85.00	\$1,173.00	\$500.00	\$6,900.00	\$550.00	\$7,590.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,437.00	\$20.00	\$88,740.00	\$22.00	\$97,614.00	\$28.00	\$124,236.00
403.11043	HBP-1/2" WEARING, MM	TON	2,186.50	\$85.00	\$185,852.50	\$72.00	\$157,428.00	\$71.00	\$155,241.50
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	51.40	\$150.00	\$7,710.00	\$150.00	\$7,710.00	\$150.00	\$7,710.00
403.16	PAVEMENT JOINT ADHESIVE	LF	9,580.00	\$0.24	\$2,299.20	\$0.23	\$2,203.40	\$0.26	\$2,490.80
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	2,131.40	\$5.00	\$10,657.00	\$2.00	\$4,262.80	\$2.50	\$5,328.50
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	16,747.00	\$3.50	\$58,614.50	\$3.50	\$58,614.50	\$3.40	\$56,939.80
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	20,597.70	\$77.00	\$1,586,022.90	\$72.00	\$1,483,034.40	\$69.00	\$1,421,241.30
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,400.00	\$82.00	\$114,800.00	\$80.00	\$112,000.00	\$72.00	\$100,800.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	12,439.00	\$3.50	\$43,536.50	\$3.00	\$37,317.00	\$5.00	\$62,195.00
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	3,468.00	\$10.00	\$34,680.00	\$2.00	\$6,936.00	\$2.00	\$6,936.00
604.0007	POLYETHYLENE LINER	EA	58.00	\$150.00	\$8,700.00	\$135.00	\$7,830.00	\$135.00	\$7,830.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	52.00	\$550.00	\$28,600.00	\$400.00	\$20,800.00	\$550.00	\$28,600.00
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	5.00	\$550.00	\$2,750.00	\$450.00	\$2,250.00	\$550.00	\$2,750.00
604.72	GRATES & FRAMES, TYPE B	EA	6.00	\$350.00	\$2,100.00	\$600.00	\$3,600.00	\$600.00	\$3,600.00
608.2401	4" CONCRETE SIDEWALK	SY	124.40	\$75.00	\$9,330.00	\$80.00	\$9,952.00	\$100.00	\$12,440.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	28.90	\$450.00	\$13,005.00	\$450.00	\$13,005.00	\$500.00	\$14,450.00
609.01	STRAIGHT GRANITE CURB	LF	50.50	\$75.00	\$3,787.50	\$50.00	\$2,525.00	\$100.00	\$5,050.00
609.5	RESET GRANITE CURB	LF	86.70	\$50.00	\$4,335.00	\$45.00	\$3,901.50	\$50.00	\$4,335.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
618.7	FLAGGERS	HR	1,230.00	\$38.00	\$46,740.00	\$35.00	\$43,050.00	\$37.00	\$45,510.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,000.00	\$6,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00
628.1	SAWED CONCRETE PAVEMENT	LF	8.00	\$17.00	\$136.00	\$15.00	\$120.00	\$10.00	\$80.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	453.20	\$12.00	\$5,438.40	\$10.00	\$4,532.00	\$5.00	\$2,266.00

New Hampshire Department of Transportation

ABC Bid Data

DISTRICT 4 16164J **NON-FEDERAL**

					PS&E		CONTINENTAL PAVING INC 1 CONTINENTAL DRIVE LONDONDERRY, NH 03053		USTRIES, INC. TE PARK ROAD NT, NH 03220	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	449.00	\$3.00	\$1,347.00	\$4.00	\$1,796.00	\$4.00	\$1,796.00	
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	265.00	\$10.00	\$2,650.00	\$3.00	\$795.00	\$4.00	\$1,060.00	
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	1,864.20	\$2.00	\$3,728.40	\$4.00	\$7,456.80	\$2.00	\$3,728.40	
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	67.70	\$50.00	\$3,385.00	\$50.00	\$3,385.00	\$50.00	\$3,385.00	
692.	MOBILIZATION	U	1.00	\$100,000.00	\$100,000.00	\$40,000.00	\$40,000.00	\$50,000.00	\$50,000.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	
			Totals:	\$2,521,117.90		\$2,286,018.40		\$2,286,58		
			Alt. Totals:							
					60 504 447 00		\$0.000.040.40	\$2,000,500,00		

\$2,521,117.90 \$2,286,018.40 \$2,286,589.30 Totals:



DISTRICT 4 16164J NON-FEDERAL

				F	PS&E	PO	DISTRUCTION INC BOX 91 ND, MA 01375	216 MOUNT HERM	ANTIC COAST LLC MON STATION ROAD LLD, MA 01360
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

COMMON STRUCTURE EXCAVATION	CY	13.80	\$85.00	\$1,173.00	\$650.00	\$8,970.00	\$400.00	\$5,520.00
CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,437.00	\$20.00	\$88,740.00	\$25.00	\$110,925.00	\$42.00	\$186,354.00
HBP-1/2" WEARING, MM	TON	2,186.50	\$85.00	\$185,852.50	\$80.00	\$174,920.00	\$90.00	\$196,785.00
HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	51.40	\$150.00	\$7,710.00	\$200.00	\$10,280.00	\$165.00	\$8,481.00
PAVEMENT JOINT ADHESIVE	LF	9,580.00	\$0.24	\$2,299.20	\$0.24	\$2,299.20	\$0.30	\$2,874.00
MATERIAL TRANSFER VEHICLE (MTV)	TON	2,131.40	\$5.00	\$10,657.00	\$2.00	\$4,262.80	\$3.50	\$7,459.90
ASPHALT EMULSION FOR TACK COAT	GAL	16,747.00	\$3.50	\$58,614.50	\$3.25	\$54,427.75	\$2.95	\$49,403.65
PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	20,597.70	\$77.00	\$1,586,022.90	\$80.00	\$1,647,816.00	\$93.00	\$1,915,586.10
PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,400.00	\$82.00	\$114,800.00	\$80.00	\$112,000.00	\$85.00	\$119,000.00
COLD PLANING BITUMINOUS SURFACES	SY	12,439.00	\$3.50	\$43,536.50	\$7.00	\$87,073.00	\$5.25	\$65,304.75
COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	3,468.00	\$10.00	\$34,680.00	\$3.75	\$13,005.00	\$20.00	\$69,360.00
POLYETHYLENE LINER	EA	58.00	\$150.00	\$8,700.00	\$135.00	\$7,830.00	\$130.00	\$7,540.00
RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	52.00	\$550.00	\$28,600.00	\$400.00	\$20,800.00	\$600.00	\$31,200.00
RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	5.00	\$550.00	\$2,750.00	\$400.00	\$2,000.00	\$1,380.00	\$6,900.00
GRATES & FRAMES, TYPE B	EA	6.00	\$350.00	\$2,100.00	\$675.00	\$4,050.00	\$600.00	\$3,600.00
4" CONCRETE SIDEWALK	SY	124.40	\$75.00	\$9,330.00	\$100.00	\$12,440.00	\$200.00	\$24,880.00
DETECTABLE WARNING DEVICES, CAST IRON	SY	28.90	\$450.00	\$13,005.00	\$500.00	\$14,450.00	\$400.00	\$11,560.00
STRAIGHT GRANITE CURB	LF	50.50	\$75.00	\$3,787.50	\$100.00	\$5,050.00	\$99.00	\$4,999.50
RESET GRANITE CURB	LF	86.70	\$50.00	\$4,335.00	\$50.00	\$4,335.00	\$95.00	\$8,236.50
UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
FLAGGERS	HR	1,230.00	\$38.00	\$46,740.00	\$40.00	\$49,200.00	\$42.00	\$51,660.00
PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,000.00	\$6,000.00	\$1,500.00	\$3,000.00	\$375.00	\$750.00
SAWED CONCRETE PAVEMENT	LF	8.00	\$17.00	\$136.00	\$20.00	\$160.00	\$17.00	\$136.00
SAWED BITUMINOUS PAVEMENT	LF	453.20	\$12.00	\$5,438.40	\$10.00	\$4,532.00	\$4.00	\$1,812.80
SAWED BITUMINOUS PAVEMENT	LF	453.20	\$12.00	\$5,438.40	\$10.00	\$4,532.00	\$4.00	\$1,812.
	CRUSHED GRAVEL FOR SHOULDER LEVELING HBP-1/2" WEARING, MM HOT BITUMINOUS PAVEMENT, HAND METHOD PAVEMENT JOINT ADHESIVE MATERIAL TRANSFER VEHICLE (MTV) ASPHALT EMULSION FOR TACK COAT PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM COLD PLANING BITUMINOUS SURFACES COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP POLYETHYLENE LINER RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES GRATES & FRAMES, TYPE B 4" CONCRETE SIDEWALK DETECTABLE WARNING DEVICES, CAST IRON STRAIGHT GRANITE CURB UNIFORMED OFFICERS WITH VEHICLE FLAGGERS PORTABLE CHANGEABLE MESSAGE SIGN SAWED CONCRETE PAVEMENT	CRUSHED GRAVEL FOR SHOULDER LEVELING HBP-1/2" WEARING, MM TON HOT BITUMINOUS PAVEMENT, HAND METHOD PAVEMENT JOINT ADHESIVE MATERIAL TRANSFER VEHICLE (MTV) ASPHALT EMULSION FOR TACK COAT PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM COLD PLANING BITUMINOUS SURFACES SY COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP POLYETHYLENE LINER RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET RECONSTRUCTING/ADJUSTING DRAINAGE GRATES & FRAMES, TYPE B 4" CONCRETE SIDEWALK SY STRAIGHT GRANITE CURB UNIFORMED OFFICERS WITH VEHICLE \$ PORTABLE CHANGEABLE MESSAGE SIGN U SAWED CONCRETE PAVEMENT LF	CRUSHED GRAVEL FOR SHOULDER LEVELING TON 4,437.00 HBP-1/2" WEARING, MM TON 2,186.50 HOT BITUMINOUS PAVEMENT, HAND METHOD TON 51.40 PAVEMENT JOINT ADHESIVE LF 9,580.00 MATERIAL TRANSFER VEHICLE (MTV) TON 2,131.40 ASPHALT EMULSION FOR TACK COAT GAL 16,747.00 PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM TON 20,597.70 PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM TON 1,400.00 COLD PLANING BITUMINOUS SURFACES SY 12,439.00 COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" LF 3,468.00 DEEP POLYETHYLENE LINER EA 58.00 RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET LF 5.00 RECONSTRUCTING/ADJUSTING DRAINAGE LF 5.00 GRATES & FRAMES, TYPE B EA 6.00 4" CONCRETE SIDEWALK SY 124.40 DETECTABLE WARNING DEVICES, CAST IRON SY 28.90 STRAIGHT GRANITE CURB LF 50.50 RESET GRANITE CURB LF	CRUSHED GRAVEL FOR SHOULDER LEVELING TON 4,437.00 \$20.00 HBP-1/2" WEARING, MM TON 2,186.50 \$85.00 HOT BITUMINOUS PAVEMENT, HAND METHOD TON 61.40 \$150.00 PAVEMENT JOINT ADHESIVE LF 9,580.00 \$0.24 MATERIAL TRANSFER VEHICLE (MTV) ASPHALT EMULSION FOR TACK COAT PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM SURFACE TREATMENT, PAVER SPOT DRAG SHIM COLD PLANING BITUMINOUS SURFACES SY 12,439.00 \$3.50 COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" LF 3,468.00 \$10.00 RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET RECONSTRUCTING/ADJUSTING DRAINAGE LF 5.00 \$550.00 MANHOLES GRATES & FRAMES, TYPE B EA 6.00 \$350.00 4" CONCRETE SIDEWALK SY 124.40 \$75.00 STRAIGHT GRANITE CURB LF 5.00 \$550.00 NEESET GRANITE CURB LF 5.00 \$350.00 VINIORMED OFFICERS WITH VEHICLE \$ 5,000.00 \$10.00 PATEBLE CHANGEABLE MESSAGE SIGN U 2.00 \$3,000.00 SAWED CONCRETE PAVEMENT LF 8.00 \$17.00	CRUSHED GRAVEL FOR SHOULDER LEVELING	CRUSHED GRAVEL FOR SHOULDER LEVELING	CRUSHED GRAVEL FOR SHOULDER LEVELING TON	CRUSHED GRAVEL FOR SHOULDER LEVELING TON

New Hampshive Department of Transportation

ABC Bid Data

DISTRICT 4 16164J NON-FEDERAL

			PO BOX 91 216 MOUNT		PS&E		PO BOX 91		VIA ATLANTIC COAST LLC INT HERMON STATION ROAD ORTHFIELD, MA 01360	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	449.00	\$3.00	\$1,347.00	\$4.50	\$2,020.50	\$1.20	\$538.80	
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	265.00	\$10.00	\$2,650.00	\$1.50	\$397.50	\$4.00	\$1,060.00	
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	1,864.20	\$2.00	\$3,728.40	\$2.00	\$3,728.40	\$2.75	\$5,126.55	
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	67.70	\$50.00	\$3,385.00	\$20.00	\$1,354.00	\$65.00	\$4,400.50	
692.	MOBILIZATION	U	1.00	\$100,000.00	\$100,000.00	\$120,000.00	\$120,000.00	\$155,000.00	\$155,000.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	
			Totals:		\$2,521,117.90		\$2,626,326.15		\$3,090,529.05	
			Alt. Totals:							
			Totals:		\$2,521,117.90		\$2,626,326.15	\$3,090,529.05		



DISTRICT 4 16164J NON-FEDERAL

				ı	°S&E	1471 MET	USTRIES, INC. HUEN STREET T, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

	I	T						
206.1	COMMON STRUCTURE EXCAVATION	CY	13.80	\$85.00	\$1,173.00	\$800.00	\$11,040.00	
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,437.00	\$20.00	\$88,740.00	\$40.00	\$177,480.00	
403.11043	HBP-1/2" WEARING, MM	TON	2,186.50	\$85.00	\$185,852.50	\$90.00	\$196,785.00	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	51.40	\$150.00	\$7,710.00	\$250.00	\$12,850.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	9,580.00	\$0.24	\$2,299.20	\$0.40	\$3,832.00	
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	2,131.40	\$5.00	\$10,657.00	\$3.50	\$7,459.90	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	16,747.00	\$3.50	\$58,614.50	\$6.00	\$100,482.00	
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	20,597.70	\$77.00	\$1,586,022.90	\$95.00	\$1,956,781.50	
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,400.00	\$82.00	\$114,800.00	\$105.00	\$147,000.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	12,439.00	\$3.50	\$43,536.50	\$10.00	\$124,390.00	
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	3,468.00	\$10.00	\$34,680.00	\$5.00	\$17,340.00	
604.0007	POLYETHYLENE LINER	EA	58.00	\$150.00	\$8,700.00	\$125.00	\$7,250.00	
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	52.00	\$550.00	\$28,600.00	\$300.00	\$15,600.00	
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	5.00	\$550.00	\$2,750.00	\$300.00	\$1,500.00	
604.72	GRATES & FRAMES, TYPE B	EA	6.00	\$350.00	\$2,100.00	\$600.00	\$3,600.00	
608.2401	4" CONCRETE SIDEWALK	SY	124.40	\$75.00	\$9,330.00	\$125.00	\$15,550.00	
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	28.90	\$450.00	\$13,005.00	\$525.00	\$15,172.50	
609.01	STRAIGHT GRANITE CURB	LF	50.50	\$75.00	\$3,787.50	\$125.00	\$6,312.50	
609.5	RESET GRANITE CURB	LF	86.70	\$50.00	\$4,335.00	\$75.00	\$6,502.50	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
618.7	FLAGGERS	HR	1,230.00	\$38.00	\$46,740.00	\$40.00	\$49,200.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,000.00	\$6,000.00	\$5,000.00	\$10,000.00	
628.1	SAWED CONCRETE PAVEMENT	LF	8.00	\$17.00	\$136.00	\$12.00	\$96.00	
628.2	SAWED BITUMINOUS PAVEMENT	LF	453.20	\$12.00	\$5,438.40	\$7.50	\$3,399.00	

New Hampshire Department of Transportation

ABC Bid Data

DISTRICT 4 16164J NON-FEDERAL

					PS&E		PS&E		DUSTRIES, INC. HUEN STREET IT, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total		
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	449.00	\$3.00	\$1,347.00	\$3.50	\$1,571.50				
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	265.00	\$10.00	\$2,650.00	\$4.00	\$1,060.00				
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	1,864.20	\$2.00	\$3,728.40	\$4.00	\$7,456.80				
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	67.70	\$50.00	\$3,385.00	\$30.00	\$2,031.00				
692.	MOBILIZATION	U	1.00	\$100,000.00	\$100,000.00	\$300,000.00	\$300,000.00				
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00				
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00				
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00				
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00				
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00				
			Totals:	\$2,521,117.90		17.90 \$3,346,742.20					
			Alt. Totals:								

Totals:

\$2,521,117.90

\$3,346,742.20



PS&E Comparison

DISTRICT 4 16164J NON-FEDERAL

				A-Bid	der	PS	ßΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
206.1	COMMON STRUCTURE EXCAVATION	CY	13.80	\$500.00	\$6,900.00	\$85.00	\$1,173.00	\$5,727.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	4,437.00	\$22.00	\$97,614.00	\$20.00	\$88,740.00	\$8,874.00
403.11043	HBP-1/2" WEARING, MM	TON	2,186.50	\$72.00	\$157,428.00	\$85.00	\$185,852.50	(\$28,424.50)
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	51.40	\$150.00	\$7,710.00	\$150.00	\$7,710.00	\$0.00
403.16	PAVEMENT JOINT ADHESIVE	LF	9,580.00	\$0.23	\$2,203.40	\$0.24	\$2,299.20	(\$95.80)
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	2,131.40	\$2.00	\$4,262.80	\$5.00	\$10,657.00	(\$6,394.20)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	16,747.00	\$3.50	\$58,614.50	\$3.50	\$58,614.50	\$0.00
411.3	PLANT MIX SURFACE TREATMENT (ASPHALT CEMENT), PAVER SHIM	TON	20,597.70	\$72.00	\$1,483,034.40	\$77.00	\$1,586,022.90	(\$102,988.50)
411.51	PLANT MIX SURFACE TREATMENT, PAVER SPOT DRAG SHIM	TON	1,400.00	\$80.00	\$112,000.00	\$82.00	\$114,800.00	(\$2,800.00)
417.	COLD PLANING BITUMINOUS SURFACES	SY	12,439.00	\$3.00	\$37,317.00	\$3.50	\$43,536.50	(\$6,219.50)
417.1181	COLD PLANING BITUMINOUS SURFACES, 18" WIDE X 1" DEEP	LF	3,468.00	\$2.00	\$6,936.00	\$10.00	\$34,680.00	(\$27,744.00)
604.0007	POLYETHYLENE LINER	EA	58.00	\$135.00	\$7,830.00	\$150.00	\$8,700.00	(\$870.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	52.00	\$400.00	\$20,800.00	\$550.00	\$28,600.00	(\$7,800.00)
604.52	RECONSTRUCTING/ADJUSTING DRAINAGE MANHOLES	LF	5.00	\$450.00	\$2,250.00	\$550.00	\$2,750.00	(\$500.00)





DISTRICT 4 16164J NON-FEDERAL

				A-Bidd	der	PS8	&E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
604.72	GRATES & FRAMES, TYPE B	EA	6.00	\$600.00	\$3,600.00	\$350.00	\$2,100.00	\$1,500.00
608.2401	4" CONCRETE SIDEWALK	SY	124.40	\$80.00	\$9,952.00	\$75.00	\$9,330.00	\$622.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	28.90	\$450.00	\$13,005.00	\$450.00	\$13,005.00	\$0.00
609.01	STRAIGHT GRANITE CURB	LF	50.50	\$50.00	\$2,525.00	\$75.00	\$3,787.50	(\$1,262.50)
609.5	RESET GRANITE CURB	LF	86.70	\$45.00	\$3,901.50	\$50.00	\$4,335.00	(\$433.50)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
618.7	FLAGGERS	HR	1,230.00	\$35.00	\$43,050.00	\$38.00	\$46,740.00	(\$3,690.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,000.00	\$2,000.00	\$3,000.00	\$6,000.00	(\$4,000.00)
628.1	SAWED CONCRETE PAVEMENT	LF	8.00	\$15.00	\$120.00	\$17.00	\$136.00	(\$16.00)
628.2	SAWED BITUMINOUS PAVEMENT	LF	453.20	\$10.00	\$4,532.00	\$12.00	\$5,438.40	(\$906.40)
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	449.00	\$4.00	\$1,796.00	\$3.00	\$1,347.00	\$449.00
632.912	OBLITERATE PAVE. MARKING LINE, OVER 12" WIDE	LF	265.00	\$3.00	\$795.00	\$10.00	\$2,650.00	(\$1,855.00)
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	1,864.20	\$4.00	\$7,456.80	\$2.00	\$3,728.40	\$3,728.40
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	67.70	\$50.00	\$3,385.00	\$50.00	\$3,385.00	\$0.00
692.	MOBILIZATION	U	1.00	\$40,000.00	\$40,000.00	\$100,000.00	\$100,000.00	(\$60,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00

Wednesday, March 17, 2021 Page 9 of 10



PS&E Comparison

DISTRICT 4 16164J NON-FEDERAL

				A-Bidder		PS&E			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00	
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$0.00	

Total: \$2,286,018.40 \$2,521,117.90 (\$235,099.50)

Wednesday, March 17, 2021 Page 10 of 10